
#81612 - ECX Torment 4x4 Kick Plate & Front Bumper
What's Included: 1 - Front Bumper, 1 - Front Skid Plate, 1 - Kick 
Plate, 1 - Brace, 5 - M3 x 12mm buttonhead screws, 2 - M3 x 
16mm buttonhead screws, 2 - M3 x 25mm buttonhead 
screws & 4 - 3mm locknuts.

Before You Begin: Remove the stock front bumper, front 
bumper support and kick plate from your truck. You may 
discard the four mounting screws for the bumper support but retain the 
mounting screws for the kick plate. They will be reused.

Assembly: 1) Bolt the Brace to the front differential 
cover of your truck using 2 of the included M3 x 
12mm screws and lock in place with 2 of the 
included 3mm locknuts (note the orientation of 
the brace in the illustration at the bottom of 
this instruction sheet). The screws will slip in 
through the top of the brace, with the 
locknuts securing the brace from under the 
differential cover's mounting flange.

2) Bolt the front bumper to the front skid plate using 3 of the 
included M3 x 12mm screws.

2a) If you are installing an RPM Light Canister Set (RPM #80982 or #80983), do 
so at this time. The Light Canister fits between the bumper and the skid plate.

3) Bolt the Kick Plate to the chassis / front differential using the stock screws 
removed earlier. Caution: Be sure to orient the aluminum bellcrank posts so they 
fit in the hex clearance bosses of the RPM Kick Plate.

4) Bolt the Front Bumper / Skid Plate / Kick Plate to the RPM Brace in the rear 
two mounting holes of the Skid Plate using the 2 included M3 x 25mm 
buttonhead screws. Slip the remaining 2 - M3 x 16mm buttonhead screws 

through the front 2 mounting holes of the Skid Plate and into 
the Kick Plate. Secure with the remaining 2 - 3mm locknuts.

Brace

Bumper
Skid Plate

Note Brace Orientation

M3 x 25mm

M3 x 16mm
Kick Plate

Orient bellcrank
posts to match
hex here


